MaTtemaTtuKa HanpeAHW HUBO

1. 1a)L;6)T;8) T;1) T; 1) L;B) L.
2. | aQ)A={1,2,3,4,5},n(4)=5; 6) B={16,17,18,19, 20, 21, 22}, n(B) =8; B) C = {2, 3, 4},
n(C) = 3.
3. | F={2,3,4,5,6}uG={1,2,3,4,5,6,7,8,9}.
F G
4. 100 \ (54-14)-2 <+ 20
80 (25+75):5 //‘ 10
10-6-10-5 <«
50 150-100:2 40
5 | 1)ADNBC={ };2)0au0C={AC};3)ACNBD={0};4)CanCB={C};
6. |AD=17,5cm.
7. man=m{A}-T;CEm-J_;DEm-J_;Ach-T
¢
A
n
D
8. | 1)A€q,2)M¢é&b;3)AB¢& c;4) Nea; 5)BCcc; 6) C Ec.
9. | a)A4={6,7,8,9,..50};6) B={6,8,10,12, 14, .., 50};8) C={6,9,12,15,18, .., 48}; 1) D =
{7,11,13,17, 19, 23,29, 33, 35,37, 41, 43,47,49}; n) E={6, 12, 18, 24, 30, 36, 42, 48}.
10. |\T,T,T,L L T,7,T,T,L,T,T.
11. |a=25°, a=45° a=25°30".
12. |a=140°, B=y=06=40°;
13. |2)
14. | a) 1685;6) 978; B) 20; ) 10 780.
15. (81
16. |a) 40; 6) 45; B) 36; ) 90; 1) 49.
17. |Bnaga - 140. Cumke - 90. 3oku - 10.HajBehu 6poj cakynuo je Biaga.
18. |1100.
19. |, 29
40
7
20. 5£.
21. |6,2745.
22. 1187,5.
23. 110 Bpehuua.
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24,

20: 7.5; 11%; 0,6; 59,1.

25.

16 5 3 6
a)x—£,6)y—E,B)a—1Z,r)x—ZH.
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27.

x=6
xX=-6

x=5
x=-5

28.

2).

29.

r)

30.

a=90°, f=15°u y=75°% a1=90°, $1=165° n y1=105°.

31.

4)

32.

33.

34.

a)x = 2,8;B) x = 25,83.

35.

9 3
< = i
a)x_2,6)x> "

36.

a)x<%;6)1—<x<—.

37.

500.

38.

a=36°, B=54° u y=90°.

39.

7
a)xZ—R,6)x>26.

40.

212,4.

41.

5950.

42.

a=65°, B=115°.

43.

44,

h=1,5 cm.

45,

r)

46.

0 = 723 cm?

47.

a) 4;6) 5;B) 3; 1) 2°.

48.

X1 = Xy.

49.

x=4x=-9,x =1,375.

50.

(x+3)(x—1);2x*> —2x — 1; —2x*> + x — 5.

51.

x=0
x=4

x=0

1
x=5 '

X =-

52.

6) 1 080°

53.

6)
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55.

243 4+/3 4 2
rn=—cm0=—ncm P =-mcm
o 3 3 3
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56.

a) 1,8; 2,4; 3; 3,6. 6) Bucuhna je 25 cm.
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57.

a)x =24,6)x = 1§;B)X=O,8.

58.

12.

59.

316

r = dm

T

60.

a)8:6;
6) 16:9.

61.

=210°, B=105".

62.

63.

a;=18cm,b1=12cmwuc; =6 cm.

64.

a:=16cm, b1 =12 cm.

65.

72.

66.

0=16 cm.

67.

2
x = 3-
3

68.

p<0.

69.

281,25 hl

70.

P = (8V3 +96v2) cm?.

71. |P = (323 + 240) cm?.
72. |V = 2400 m3
73. |V = 30vV3hl
74. |V = 96 cm?
75. |V = 24V2 cm®
76. |P = 75(v3 + 1) cm?,
77. lm=2, y=-2x
78. | ®dynkuyuje cy onajajyhe.
79. |0=16, P=15.
80. |x = 25

y =18
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81. |[x =48
y =16
82. [x =72
y =96
83. H:r=1:2
84. |m = 18,6 g (jenan HoBuYMh)
85. |V=192m cm3




